Triangles Measurements (A)

Calculate the missing measurements for each triangle.
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Triangles Measurements (A) Answers

Calculate the missing measurements for each triangle.
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Triangles Measurements (B)

Calculate the missing measurements for each triangle.
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Triangles Measurements (B) Answers

Calculate the missing measurements for each triangle.
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P =375 AU
A = 26.79 AU?
P =61.1yd
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P =61.3in
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Triangles Measurements (C)

Calculate the missing measurements for each triangle.
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A =
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3.6 mm
P =7 mm
A = 9.18 mm?
? ft
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4,
1.1 mi
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Triangles Measurements (C) Answers

Calculate the missing measurements for each triangle.

2.
A =
& R
3.6 mm
P =19 mm
A = 9.18 mm?
9.9 1t
P=2378ft
A = 60.39 ft?
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A = 1.43 mi?
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Triangles Measurements (D)

Calculate the missing measurements for each triangle.

5.5 ft 2. 15.6 mi

P=7mi
A = 183.3 mi?
4. 5.8 km
N
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P=7cm
A = 83.22 cm?
P=7km
A = 63.51 km?
6. 3.4 yd
S
~ -
P=27ft
A = 54.035 ft2 P =7yd
A = 4.59 yd?
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Triangles Measurements (D) Answers

Calculate the missing measurements for each triangle.

5.5 ft 2. 15.6 mi

P = 72.6 mi
A = 55 ft? - oo
4. 5.8 km
N
g
~
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P =428 cm
A = 83.22 cm?
P = 50.4 km
A = 63.51 km?
6. 3.4 yd
S
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P = 33.6 ft
A = 54.035 ft? P =104 yd
A = 4.59 yd?
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Triangles Measurements (E)

Calculate the missing measurements for each triangle.
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=
B, 2.
P=7yd
A = 157.2 yd? B
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P=7mi
A = 2.255 mi?
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D
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P=7mi
A = 43.24 mi?
6.8 ft 0.
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P=27ft
A = 18.7 ft?
P=27ft
A = 6.2 ft?
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Triangles Measurements (E) Answers

Calculate the missing measurements for each triangle.

2.
e}
=
: =[ \g
B, 2.
P =629 yd
_ 2
A =157.2 yd
1.1 mi
P =94 mi
A = 2.255 mi?
4.
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& = S
> i =
D
9.4 mi
P = 31.8 mi
A = 43.24 mi? P =444 mi
A = 74.295 mi?
6.8 ft 0.
e t: &
% = o
P =107 ft =
A = 18.7 ft?
P=132ft
A = 6.2 ft?
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Triangles Measurements (F)

Calculate the missing measurements for each triangle.

2. 12.2 AU
«?) &
~ =
.
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P =7 ft A = 129.93 AU?
A = 31.62 ft?
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>
Z
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V4 o
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P2 A = 138.375 mm?
A = 44.44 in?
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Triangles Measurements (F) Answers

Calculate the missing measurements for each triangle.

2. 12.2 AU
o) =
> Z
6.8 ¢ P = 67.5 AU
P =276 ft A = 129.93 AU?
A = 31.62 ft?
4.
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=~
>
Z
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P = 16.1 AU 5
A = 11.88 AU2 =
P=1439m
A = 36.92 m?
6. 23.2 .
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: & =
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101in P = 58.9 mm
b 9931 A = 138.375 mm?
A = 44.44 in?
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Triangles Measurements (G)

Calculate the missing measurements for each triangle.
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P=7nm
A = 36.49 nm?
4. 5 AU
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P=7yd
A = 81.13 yd?
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=
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P=7cm
A = 8.575 cm?

8.6 yd

Math-Drills.com




Triangles Measurements (G) Answers

Calculate the missing measurements for each triangle.

8.6 yd
8.2 nm
P =278 nm
A = 36.49 nm?
4 5 AU
O
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~
P =448 AU
A = 49 AU?
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-
>
Q
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“ " 10.8 yd
P =30 yd
A = 4212 yd?
P=144 cm
A = 8.575 cm?
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Triangles Measurements (H)

Calculate the missing measurements for each triangle.

2.
~
w
5
P=7cm >
A = 96.525 cm? é’
P=7cm
A = 102.06 cm?
? m 4-
=
84 < .
3 :
P=77m & -
A = 63 m?
/[ T[]
12.4 mi
P=7mi
A = 142.6 mi®
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1
w
oo
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- <
o
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P=7AU
— 7
P=7km A = 6.08 AU2

A = 4.485 km?
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Triangles Measurements (H) Answers

Calculate the missing measurements for each triangle.

2.
~
w
5
P =45 cm >
A = 96.525 cm? g
P =589 cm
A = 102.06 cm?
16.8 m 4.
ﬂ :
]84 0
m = f 5
P=427m S 2
A = 63 m?
/[ T[]
12.4 mi
P =61.5 mi
A = 142.6 mi®
6.
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1
w
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o
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P=113AU
P=11.6 km A — 6.08 AU?

A = 4.485 km?
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Triangles Measurements (I)

Calculate the missing measurements for each triangle.

2. . -
3¢ g
2% > =
i ? cm
77777 fmemee P=7cm
A = 4.25 cm?
“a
P=7"m
A = 7.04 m?
4.
w
w
>
e}
=
I~
P=7AU ”
A =561 AU?
P=7"m
A = 65.25 m?
0. 3.1 mi
Q}s -
<,b -
g ;:
? ft
P=7ft
A = 128.76 ft2
P=7mi
A = 14.725 mi?
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Triangles Measurements (I) Answers

Calculate the missing measurements for each triangle.

o
2D

77777 3.2m ----
“a

P=122m

A = 7.04 m?

nv ee

4.4 m

P =108 AU
A =561 AU?
Q};
7
17.4 ft
P =55 ft
A = 128.76 ft2

14.8 ft

2.

53 g
It~
5 cm
P=12 cm
A = 4.25 cm?

8.7 m

P=1433m
A = 65.25 m?
3.1 mi

P =241 mi
A = 14.725 mi?
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Triangles Measurements (J)

Calculate the missing measurements for each triangle.

2.
9.1 mi
P=7mi
A = 62.79 mi?
? km 4
g
5y © o0 24
% P~ =~ c
< %
P=7km
A = 40.28 km?
7 cm
P=7cm
A = 39.06 cm?
6.

W g¢
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Triangles Measurements (J) Answers

Calculate the missing measurements for each triangle.

2.
9.1 mi
P = 48.2 mi
A = 62.79 mi?
10.6 km 4,
g
5y © o0 @y
% P~ -~ c
< %
P =312 km
A = 40.28 km?
9.3 cm
P =30.2 cm
A = 39.06 cm?
13.3 yd 6.
X
B
P =443 yd
A = 91.77 yd? P=6lLlm

A =178.2 m?
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